1-1

1-2

1997
() 4 3
- - 13 4
[ ] Sv
-1.2.1
1000
80cm/s
100
//'
/1
//
P
/ //
10
Sv
(cm/s)
0.1 1 10
Ts( )

-1.2.1

ST ( 2)



1-3

1)
2)
1
[ ] 45
50
50
44 4) 1/V 3
@)
N/mm?2 N/mm?2
(mm) N/mm?2
16 40
16 40
SM490A 215 490 125 325 315 295 490 610
(2) [N/mm2]
8.8 290 830 200 660 830
ST ( 2)




2-1

Dp

EHir

woJ

h+t
VAV T
I,
Di | Do
Uy
R, t
h+t
-2.1.1 2
[ S50 ]
Do m 3.550
Di m 3.294
m 1.00
h m 0.125
Rc m 1.7168 1
De m 3.394
ns 6
a ° 14.5
m 0.0030
tr m 0.014
ts m 0.009
0 s ° 11.250
:Rc=Do/2-yo
yo =
2 (tr h (t+h/2)+25 t2 t/2)

yo =

2 (tr h+25 ©)

2x (0.014x 0.125x (0.0030 + 0.125 / 2 )+ 25x 0.00302x 0.0030 / 2 )

2x (0.014x 0.125 + 25x 0.00302)

= 0.0582 (m)

tr

Rc = 3.550 / 2 - 0.0582 = 1.7168 (m)

0.0030 (m)

0.014 (m)

ST ( 2)



Ab n

LT

|B1 {bw
AY=:VIVIAN Dy St — Y PRV
-2.1.2
Ms 20
Qb m 0.023
Ab m2 0.000314
An m2 0.000245
Nrb 32
IB1 m 0.0200
Nbw 1
tow m 0.0030
In m 0.016
Cb % 60
hss m 0.0750
ST

2)



2-2

ugv_ N Vsi y ti
7 6L - (m/sec) (kN/m3)
7 &
o 2 5 137 17.000
3 3 144 16.000
£ g
(o)
—
~ 4 10 172 17.000
<
W
5 N
o
~
<
N
1
T
_ 5 2 126 16.000
!
6 12 183 17.000
A\VA
7
50 300
-2.2.1
Vsi (m/sec)
Vsi = 100Ni/3(1 Ni 25)
Vsi = 80Ni/3(1 Ni 50)
Ni =0 Vsi= 50
Ni i

ST




5m

300m/s
N=25

25

N=50

( 300m/s

GL-24.700m

ST



3-1

" Hi
Tc= 4% Ve
i= 1 SI
Te (sec)
Hio i (m)
Vs (m/sec)
Hi(m) Vsi(m/sec) 4 Hi/Vsi(sec)
0.500 2 101 0.020
2.800 5 137 0.082
1.900 144 0.053
3.300 10 172 0.077
12.200 2 126 0.387
4.000 12 183 0.087
24.700 0.706
Tc = 0.706 (sec)
ST

2)



3-2

( )

Ts=1.25 Tc=1.25x 0.706 = 0.883 (sec)

Ts
Te 0.706(sec)
3-3
2 0.7 80cm/s 0.7
1000
80cm/s
100
—
//
//
P
/ i
10
Sv
(cm/s)
0.1 1
Ts( )
-3.3.1
Ts =0.883 (sec) Sv 0.800 (m/sec)

ST

10

2)



3-4

Gs
Y i@
Gs=———— VDs?
g
16.000
Gs = x 126.02 25920 (kN/m2)
9.8

Gs (kN/m2)

g 9.8 (m/sec?)

VDs 126.0 (m/sec)

H 24.700(m)

Ts 0.883(sec)

Y ti2) 2) 16.000(kN/m3)
Hi(m) v 1 (kN/md)
0.500 18.000
2.800 17.000
1.900 16.000
3.300 17.000
12.200 16.000
4.000 17.000

ST

2)



3-5

1 L2

L:
L= 2L1 L2 _ 2x 98.8 x 264.9
L1+ L2 98.8 + 264.9

= 143.9 (m)

L1
Li1=Vps Ts=4H =4 x 24,700

=98.8 (m)

L2

L2 =Ves Ts=300x 0.883

=264.9 (m)
H 24.700 (m)
VBs 300 (m/sec)
Ts 0.883 (sec)

ST

L1

2)

10



3-6

Kg1
Kgt =C1 Gs=1x 25920 = 25920 (KN/m?)
Kg2
Kg2 =C2 Gs=1x 25920 = 25920 (KN/m?)
Kg3
Kga =Cs Gs=3x 25920 = 77760 (KN/m?)
Ci1 C2 Cs3 Kol Kg2 Kg3
Ci1 C2 1.0 C3 3.0
Gs 25920 (kN/m?)
Te sec 0.706
Ts sec 0.883
Sv m/sec 0.800
Y teq kN/m3 16.000
Vs m/sec 126.0
Gs kN/m2 25920
L m 143.9
Kol kN/m?2 25920
Kg2 kN/m?2 25920
Kg3 kN/m?2 77760
ST

2)

11



4-1
1)
(
( )
N
|=n@B 6
LB
Kj _EsAs
N < =N N =
N « (EA)Teq =N N =
-4.1.1
@
(
( + )

|I=n@B

ST

12



4-2

Do m 3.550
Di m 3.294
B m 1.00
Rc m 1.7168
Dp m 3.394
t m 0.0030
hs m 0.118
ts m 0.009
bs m 0.089
R1 m 0.0135
R2 m 0.0225
Nja 26
hj m 0.125
tj m 0.014
nj 12
Mg 20
0B ° 11.250
Qb m 0.023
Ab m?2 0.000314
An m?2 0.000245
Nrb 32
IB1 m 0.0200
Nbw 1
thw m 0.0030
In m 0.016
Ch % 60
hss m 0.0750
ST

2)

13



(2 As Is

40
Ast =40 t2 na+20 t2 n;

= 40x 0.0030 2x 26 + 20x 0.0030 2x 12

14

20

2FIFL b ASt

40t

=0.0115 (m2)
ftu o As2
EOAYRFEIR AS3
-4.2.1
s
As2 = (ts (hs-R2)+ (R2-R12)+ts (bs-R2)) nja
4
s
= (0.009% (0.118 - 0.0225) + x (10.02252 - 0.01352 ) + 0.009x ( 0.089 - 0.0225) )x 26
=0.0445 (m?)
As3 = t hj nj
= 0.014x 0.125x 12 = 0.0210 (m?)

Ass = Asi + As2 + As3

As = Ass

Ass

As1

As2

As3

= 0.0115 + 0.0445 + 0.0210 = 0.0770 (m?)

0.0770 (m?)
0.0115 (m2)
0.0445 (m2)

0.0210 (m2)

ST ( 2)



2)
Is
10 ( D3* - D4*)
Is =
64
D3 (m) =2 Rc+tc
D4 (m) =2 Rc-tc
tc: (m)
As 0.0770
tc = = = 0.0071 (m)
2 Rc 21 x 1.7168
Rc 1.7168 (m)
As 0.0770 (m?)
D3= 2 Rc+tc = 2x 1.7168 + 0.0071 = 3.4407 (m)
Da= 2 Rc-tc = 2x 1.7168 - 0.0071 = 3.4265 (m)
Is
T (3.44074 - 3.4265%)
Is = = 0.1129 (m%)
64
3) Ks
Es Ass 210000000x 0.0770
Ks = = = 16170000 (KN/m)
B 1.00
Es 210000000 (KN/m2)
Ass 0.0770 (m?)
B 1.00 (m)
ST

2)

15



4-3 kj
-4.3.1
1
1 1 2
= +

Kj Ks Kp

Ki

KB

Kp ( )

TH

UDJlFRILE

-4.3.1

Eiy)

U IS RILA

B
=>

wo

ST

2)
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£ 2 —_

An | Ab
I'n
In IB2 31
kB2 kB
-4.3.2
ks
EB An

Ty b
1
k1 kB2
ks =
k1 + kB2

An/ Ab IB1+1IB2 + I'n

210000000x 0.000245

1405542 (kN/m)

0.000245 7/ 0.000314x 0.0200 + 0.011 + 0.010

KB

Ke = kB nrb = 1405542% 32 = 44977344 (kN/m)

Es
An
Ab
ks1
ks2
IB1

IB2

210000000 (KN/m?)
0.000245 (m?)
0.000314 (m2)

0.0200 (m)

IB2=2 tr+now tow-IB1

=2x 0.014 + 1x 0.0030 - 0.0200

= 0.011 (m)

I'n=In Cb
= 0.016x 0.60 = 0.010 (m)

(Cb = 60

ST (

2)



kp =
-4.3.3
1)
3 5 1/3 1/6
(
(0) B Y IRET b PP M2
P = 5 = -
2 p 2 48El 8El

' 2
Mpg/ y | QMD Moo 20
/ 4

-4.3.4

ST ( 2)

18



-4.3.4 ( )1 kp

48 Es Ip

kp =
i3
Ip

h tr3 0.125x 0.0143

Ip = =
12 12

= 28583 10-12 (m¥)

i= Rp Os 1 /180 1.697 x 11.250 x 1 / 180

h ( ) 0.125 (m)
Es 210000000 (kN/m2)
tr 0.014 (m)
Rp 1.697 (m)
0s 11.250(° )

48 x 210000000 x 28583x 10-12

0.3333

= 7803 (kN/m)

Kp nro = 32

Kp = kpx nrb = 7803 x 32 = 249696 (kN/m)

ST

2)

19



1 1 2
= +
Kj Ks Kp
Ke Krp
Kij=—
Kp + 2KB
1 ki
ks kp 1405542x 7803
kj = = 3891 (kN/m)
ke + 2ks 7803 + 2x 1405542
K
Ki = ki nmb = 3891 x 32 = 124512 (kN/m)
@)
Ks Kp Ks Kp Ks
Ki
-4.35
Kp kN/m 249696
Ks kN/m 44977344
Kj kN/m 124512
Ks kN/m 16170000
ST ( 2)

20



4-4

(EA)Ceq = Es As = 210000000 x 0.0770

(EA)Teq

= 16170000 (kN)

Ass

1
= Es
(Ks/Kj)+1
1
(16170000 / 124512) + 1
= 123561 (kN)
(EA)Ceq
(EA)Teq
Es
As
Ass
Ks
Kj

x 210000000x 0.0770

ST

(kN)

(kN)

210000000 (kN/m2)
0.0770 (m2)

0.0770 (m?)
16170000 (kN/m)

124512 (KN/m)

2)

21



4-5

210000000 (kN/m2)
0.1129 (m4)

(rad)

124512 (kN/m)

cos3@
(El)eq = Es Is
cosQ +(m /2+¢@ ) sing

Es

Is

¢

Ki
1 Kj

@ +cotp = T ( + )
2 Es As/B
(El)eq
1 Kj
¢ tcotgp = m ( +
2 Es As/B
1 124512
= T ( +
2 210000000 x 0.0770 /7 1.00
= 1.595
@ =1.163 (rad)
cos 31.163
(El)eq =

cos 1.163 + (1 / 2+ 1.163) x sin 1.163

508866 (KN m2)

x 210000000 x 0.1129

As m2 0.0770

Ks kN/m 16170000
(EA)Ceq kN 16170000
(EA)Teq kN 123561

Ki kN/m 124512
(El)eq kN m2 508866

ST (

2)
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a) h(z)
nZz
Unz) = Sv Ts cos (
2 2H
2 T x 14.719
= x 0.800x 0.883x cos ( —————— ) =0.0849 (m)
2 2 x 24,700
Sv 0.800(m/sec)
Ts 0.883(sec)
z 14.719(m)
H 24.700(m)
b) %
Uv Unz 1/2
1 1
Uv = Uh@) = x 0.0849 = 0.0425 (m)
2 2
U=Asin [27[*’1
> Acose
N X
. zaw
Asine—| A:Uh(z):%2 Sve Tse cos %
L/cosé
Us Asiné
sHEEHU. LU=Asiné - sin (M%bﬂ X)
Ur Acosd
BHOZNU. U=Acos ¢ - sin [ch%b o X)
-5.1.1

ST



5-2

PCh =

PTh =

PCv =

-5.2.1
PCh
m  Unhg
a — ( EA )Ceq
L
T x 0.0849
0.627 x ——————— x 16170000 = 18792.057 (kN)
143.9
PTh
T Unhg
o ————————— (EA)Teq
L
T x 0.0849
0.995x ——————— x 123561 =227.877 (kN)
143.9
PCv
T (Un@ +Uv)
a C1 ( EA)Ceq
2L
T x (0.0849 +0.0425)
0.627 x x 16170000 = 14099.577 (kN)
2 x 143.9
Mhn
W
P
-
—
PTh
P%
%//r PTh
My
-5.2.1
ST

2)



PTv =

PTv

T (Un@ +Uv)

a1 (EA)Teq
2L
1 x (0.0849 +0.0425)
0.995 x x 123561 = 170.975 (kN)
2 x 143.9
Mh
4112 Un@)
a2 ————————— (El )eg
L2
4112 x 0.0849
1.000 x x 508866 = 82.366 (KN m)
143.92
. Mv
42 Uv
[0 - T — (El )eg
|_2
4112 x 0.0425
1.000 x x 508866 = 41.232 (kN m)
143.9 2
Qh
83 Unw
a2 ————————— (El )eg
|_3
81 3 x 0.0849
1.000 x x 508866 = 3.596 (kN)
143.93
Qv
83 Uv
(o < D — (El )eq
|_3
81t 3 x 0.0425
1.000 x x 508866 = 1.800 (kN)
143.93
(EA)Ceq
(EA)Teq
(El)eq
Uh@z)
Uv
L
ST

16170000(kN)

123561(kN)

508866(kN m?)

0.0849(m)

0.0425(m)

143.9(m)

25



a0 a1 a2 a3

1

aCi=
1+(2m /(A C Li))?2

1
= = 0.627
1+ (21 /(0.040 x 203.5) )2

1

aTi=
1+(2m /(ANT1 Li))?2

1
= = 0.99
1+ (21 /(0.458 x 203.5) )2

1

1+(2m /(A2 L))4

1
= = 1.000
1+(2m /(0.475% 143.9) )

1

1+(2m /(A3 L))4

1
= = 1.000
1+ (21 /(0.625x 143.9) )

Ko 25920

AcCL= — = ———— = 0.040 (I/m)
(EA)Ceq 16170000
Kot 25920

ATi= — = ——— = 0.458 (I/m)
(EA)Teq 123561

Kg2 25920

A2= 4 ——— = 4] —— = 0.475(/m)
(El)eq 508866
Kgs 77760

As= 4 —— = 4] ——— = 0.625(/m)
El)eq 508866

(
L= 42 L = 42 x 1439 = 2035(m)

Kot 25920 (kN/m2)
Kg2 25920 (kN/m2)
Kg3 77760 (KN/m2)

ST



PCh kN 18792.057
PTh kN 227.877
Py kN 14099.577
PTy kN 170.975
Mh kN m 82.366
Mv kN m 41.232
On kN 3.596
Qv kN 1.800
Un m 0.0849
Uv m 0.0425
ST

2)

27



5-3
45
1)
a)
. 1
PCo* = 77—
Y
_r
KR
b)
M 1
h' = ——
12
1
2
Mh
PCo

-5.3.1

5-2

. PCo’

PCo

x 33224.674 = 23493.392 (kN)

‘Mn'

Mh

x 82.366 = 58.242 (kN m)

82.366(kN m)

PCo= 4 2PCR2+2PCv2 = 4 2 x 18792.0572+2 x 14099.5772

= 33224.674 (kN)

ST

2)

28



a) :Po
1
PTo' = 4/: PTo
2
1
= —— x 402.891 = 284.887 (kN)
A2
b) My
Mv* L M
V= —— v
N2
1
= —— x 41.232 = 29.155 (kN m)
N2
Mv
PTo

PTo= 4 2PTh2 + 2PTy2

41.232(kN m)

A 2x 227.8772+2x 170.9752

402.891 (kN)

PCo’ kN 23493.392

PTo* kN 284.887

Mh* kN m 58.242

Mv* kKN m 29.155
ST

2)

29



a) . PCmax(k

Pmax (KN)

N)

PCmax =& € PCo’

b)  PTmax(k

N)

PTmax =& T PTo'

EC
ET
¢ ¢T
cos(2m n /L)
go= 1+
cosh(AC (Li/2-n))
(EA )Teq aTy cos(2m n /Li)
T= (1 -
( EA )Ceq a C1 cosh(A Tt n )
n 0<n <Li/4
21 21 [
aTt tanh (A T2 n)+ — oC tanh (A C( —
ATt L A G Li
n
-(aT1-aC) tan(2m —— )=0
Li
AT1 0.458 (I/m)
A G 0.040 (I/m)
Li 203.5 (m)
aT: 0.995
a C1 0.627
n
n =31.695 (m)

ST

2)

30



£€Cc &7

cos(2m n /L)

ge= 1+
cosh(AC (Li/2-n))
cos (2 x 31.695 / 203.5)
= 1+ = 1.067
cosh (0.040 x (203.5/72-31.695))
(EA )Teq aTy cos(2m n /Li)
& 7= (1 -
( EA )Ceq a C1 cosh(A Tt n )
123561 0.995 cos (2m x 31.695/ 203.5 )
= x x (1- ) = 0.012
16170000 0.627 cosh (0.458 x 31.695)
PCo"  23493.392 (kN)
PTo'  284.887 (kN)
PCmax= & € PSo' = 1.067 x 23493.392 = 25067.449 (kN)
PTmax= & T PTo' = 0.012x 284.887 = 3.419 (kN)
(2) Mmax (KN m)
Mh* My’

Mh'  58.242 (kN m)

Mv'  29.155 (kN m)

Mmax = Mh' = 58.242 (KN m)
PCrmax (kN) 25067.449
PTmax (kN) 3.419
Mmax (KN m) 58.242

ST ( 2)



5-5

a) 10 Cp

PCmax Mmax
o Cp' = + yZS
As Is
yzs (m)
Vzs Do/2=3550/2 = 1.775 (m)
As 0.0770 (m?)
25067.449 58.242
o Cp' = + x 1.775
0.0770 0.1129

= 326467 (kN/m2)

326.467 (N/mm?)

ST

2)

32



0.000245 (m?)

32 (' /Ring)

b) 0B
o8B
OB= OBL+OR2
o BL
PTmax 3.419
O B1= = = 436 (KN/m2)
AB 0.007840
0.436 (N/mm?)
AB = An nrb=0.000245 x 32 =0.007840 (m2)
An
Nrb
O B2
fj
0B2=
An
f (kN)
Mmax B T sing
fj = Rc(1+sing ) Kkj
Es Is cosé@
58.242 x 1.00 T % sinl1.163
= X
210 x 108x 0.1129 c0s31.163
= 1.455 (KN)
Mmax
Is
B
Es
Q (
N
Rc
0 B2
fj 1.455
O B2= = 5939 (KN/m?)
An 0.000245
5.939 (N/mm?)
oB
OB= O0BL+0B2 = 0.436 +5.939 =

6.375 (N/mm?2)

O B2

x 17168 x (1 +sinl.163) x 3891

58.242 (kN m)
0.1129 (m4)

1.00 (m)
210000000 (kN/m2)
1.163 (rad)

3891 (kN/m)
1.7168 (m)

33



oj= ojl+0o

PTmax
13591.837 x
Nrb

= 1452 (kN/m?)  1.452 (N/mm?)

3.419
32

lj 0.333
Bm = =
h tr 0.125 x 0.0142
= 13591.837 (kN/m?)
O j2

O = Bm fj =13591.837 x 1.455
= 19776 (kN/m2)

19.776 (N/mm2)

Bm 1(kN)
Bt 1(kN)
Nrb

I

h

tr

Oj
gj= Ojl+0j2 = 1.452 + 19.776

32

0.333 m
0.125 (m)
0.014 (m)

= 21.228 (N/mm2)

ST

2)

34



Tj= Tjl+Tj2
Tijl
PTmax 3.419
Tj1= Bt = 285.714 x
Nrb 32
=31 (kN/m2)  0.031 (N/mm?)
1 1
Bt =
2 h tr 2x 0.125 x 0.014
=285.714 (kN/m?)
Tj2
Tj = Bt fj =285.714 x 1.455

= 416 (kN/m?)

0.416 (N/mm2)

Tj= Tjl+T 2 = 0.031 + 0.416 0.447 (N/mm?2)
)
o B1 N/mm?2 660 830 0.436 OK
oj1 N/mm? 325 490 1.452 OK
Tl N/mm?2 187 0.031
0 B2 N/mm? 660 830 5.939 OK
oj2 N/mm? 325 490 19.776 OK
Tj2 N/mm?2 187 0.416
o °p’ N/mm?2 325 490 326.467 OK
gB N/mm? 660 830 6.375 OK
oj N/mm? 325 490 21.228 OK
T N/mm? 187 0.447
ST 2)
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a) ( ): 3¢

PTmax PTmax

Ks Kj
3.419 3.419

16170000 124512

0.00002767(m)  0.0277 (mm)

PTmax
Ks
Ki

ebt =(8t/Lbc) 100 = (0.0277 /31.0) x

Lbc 2 tn+tw now = 2 x

tr1
tbw

Nbw

€ bt =0.0894 ( )

36

3.419 (kN)
16170000 (kN/m)
124512 (kN/m)

100 = 0.0894 ( )

14 +3.0x 1 = 31.0 (mm)

14 (mm)
3.0 (mm)
1()

=2200( ) OK

ST ( 2)



36
XY
Y

X

. BAES

‘ . BHES

6.1.1 36
(m) Y (m) (m) (m)

1 0.0000 1.7168 | 19 0.0000 -1.7168
2 0.2981 1.6907 | 20 -0.2981 -1.6907
3 0.5872 1.6133| 21 -0.5872 -1.6133
4 0.8584 1.4868 | 22 -0.8584 -1.4868
5 1.1035 1.3151| 23 -1.1035 -1.3151
6 1.3151 1.1035| 24 -1.3151 -1.1035
7 1.4868 0.8584 | 25 -1.4868 -0.8584
8 1.6133 0.5872| 26 -1.6133 -0.5872
9 1.6907 0.2981| 27 -1.6907 -0.2981
10 1.7168 0.0000| 28 -1.7168 0.0000
11 1.6907 -0.2981| 29 -1.6907 0.2981
12 1.6133 -0.5872| 30 -1.6133 0.5872
13 1.4868 -0.8584 | 31 -1.4868 0.8584
14 1.3151 -1.1035| 32 -1.3151 1.1035
15 1.1035 -1.3151| 33 -1.1035 1.3151
16 0.8584 -1.4868 | 34 -0.8584 1.4868
17 0.5872 -1.6133| 35 -0.5872 1.6133
18 0.2981 -1.6907 | 36 -0.2981 1.6907

ST

2)
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38

a)
Ar=2 (tr h+25 t2)
=2x (0.014 x 0.125+ 25 x 0.00302) = 0.003950 (m?)
m 0.003950 7/ 1.00 = 0.003950 (m2/m)
b)
2 (tr h (t+h/2)+25 t2 t/2)
yo =
2 (tr h+25 t2)
_ 2x (10.014x 0.125x (0.0030 + 0.125 / 2 )+ 25x 0.00302x 0.0030 / 2)
2x (0.014x 0.125 + 25x 0.00302)
= 0.0582 (m)
i =h+t-yo
=0.125 + 0.0030 - 0.0582
=0.0698 (m)
c)
troyis tr(yo-1t)3 t 25 t¢
IsE=  2( + +25t2(yo- —— )2+ —————— )
3 3 2 12
0.014 x 0.0698 3 0.014 x ( 0.0582 - 0.0030) 3
= 2 ( +
3 3
0.0030 25 x 0.00304
+25x 0.00302x (0.0582- ——— )2+ )
2 12

= 0.000006190845 (m*)  6190845x 10-12 (m*)

6190845x 10-12 / 1.00 = 6190845x 10-12 (m#)

tr 0.014 (m)
t 0.0030 (m)
yi 0.0698 (m)
Yo 0.0582 (m)
B 1.00 (m)

ST ( 2)



6-1

PH1 Pyt PH1
TEEEEREREN
W
/
<< 45°
< 45°
AN
q q
PH2 Pr2
Pv1
O O
Pq
.6.1.2
Pvi kN/m?2 207.104
PH1 kN/m? 166.428
PH2 kN/m?2 210.378
Wg kN/m? 1.001
Pg kN/m2 3.145
q kN/m? 16.356
O pygwmy | 9O q(kN/m2)
1 0 166.4280 90 0.0000
2 36 10 166.7621 80 0.0000
3 35 20 167.7528 70 0.0000
4 34 30 169.3720 60 0.0000
5 33 40 171.5698 50 0.0000
6 32 50 174.2782 40 1.4883
7 31 60 177.4155 30 4.7906
8 30 70 180.8869 20 8.4445
9 29 80 184.5873 10 12.3396
10 28 90 188.4030 0 16.3560
11 27 100 192.2187 10 12.3396
12 26 110 195.9191 20 8.4445
13 25 120 199.3905 30 4.7906
14 24 130 202.5278 40 1.4883
15 23 140 205.2362 50 0.0000
16 22 150 207.4340 60 0.0000
17 21 160 209.0532 70 0.0000
18 20 170 210.0439 80 0.0000
19 180 210.3780 90 0.0000
ST

2)
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ST
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X Y X Y
(m) (m) (m) (m) (m) (m)
1 0.005541 | -0.008114 | _ 0.000000
2 0.005461| -0.007713| _ 0.002591| 36 0.005622 | -0.007713 | -0.002591
3 0.005638 | -0.006606 |  0.004749| 35 0.005445 | -0.006606 | -0.004749
4 0.006228 | -0.005061 | _ 0.006127 | 34 0.004855 | -0.005061 | _-0.006127
5 0.007231] -0.003419|  0.006536 | 33 0.003852 | -0.003419| -0.006536
6 0.008483| -0.001991|  0.005973| 32 0.002600 | -0.001991 | -0.005973
7 0.009722 | -0.000970 | _ 0.004614| 31 0.001361| -0.000970 | -0.004614
8 0.010676 | -0.000384 | _ 0.002764| 30 0.000407 | -0.000384 | -0.002764
9 0.011152| -0.000123|  0.000763| 29 | -0.000069| -0.000123| -0.000763
10 0.011083] _ 0.000000| -0.001109 | 28 0.000000 | 0.000000 | __0.001109
11 0.010520|  0.000178| -0.002687 | 27 0.000563 | 0.000178 |  0.002687
12 0.009593|  0.000559 | -0.003886 | 26 0.001490 | 0.000559| _ 0.003886
13 0.008480 | 0.001219] -0.004638 | 25 0.002603 | 0.001219]  0.004638
14 0.007374 |  0.002149| -0.004895| 24 0.003709 | 0.002149]  0.004895
15 0.006445 | 0.003257 | -0.004649 | 23 0.004638 | 0.003257 | 0.004649
16 0.005805 |  0.004391| -0.003939 | 22 0.005278 | 0.004391|  0.003939
17 0.005485 |  0.005372| -0.002851] 21 0.005598 | 0.005372|  0.002851
18 0.005437 | 0.006037 | _-0.001494 | 20 0.005646 | 0.006037 | __0.001494
19 0.005541|  0.006273| _ 0.000000
4)
M(kN m) Q(kN) N(kN) M(kN m) Q(kN) N(kN)
1 1 11.747 -3.274 318.243| 36 | 1 11.747 3.274 318.243
1 2 10.767 -3.274 318.243| 36 | 36 10.767 3.274 318.243
2 2 10.767 -9.308 321.450] 35 | 36 10.767 9.308 321.450
2 3 7.982 -9.308 321.450] 35 | 35 7.982 9.308 321.450
3 3 7.982 -13.335 327.307] 34 | 35 7.982 13.335 327.307
3 4 3.991 -13.335 327.307| 34 | 34 3.991 13.335 327.307
4 4 3.991 -14.798 334.792| 33 | 34 3.991 14.798 334.792
4 5 -0.438 -14.798 334.792] 33 | 33 -0.438 14.798 334.792
5 5 -0.438 -13.430 342.670] 32 | 33 -0.438 13.430 342.670
5 6 ~4.457 -13.430 342.670] 32 | 32 ~4.457 13.430 342.670
6 6 ~4.457 -9.655 349.503| 31 | 32 ~4.457 9.655 349.503
6 7 ~7.346 -9.655 349.503| 31 | 31 ~7.346 9.655 349.503
7 7 ~7.346 -4.630 354.219] 30 | 31 ~7.346 4.630 354.219
7 8 -8.731 ~4.630 354.219] 30 | 30 -8.731 4.630 354.219
8 8 -8.731 0.255 356.583 | 29 | 30 -8.731 -0.255 356.583
8 9 -8.655 0.255 356.583 | 29 | 29 -8.655 -0.255 356.583
9 9 -8.655 3.500 357.069 | 28 | 29 -8.655 -3.500 357.069
9 | 10 ~7.608 3.500 357.069 | 28 | 28 ~7.608 -3.500 357.069
10 | 10 ~7.608 5.012 356.584 | 27 | 28 ~7.608 -5.012 356.584
10 | 11 -6.108 5.012 356.584 | 27 | 27 -6.108 -5.012 356.584
11 [ 1 -6.108 6.009 355.626 | 26 | 27 -6.108 -6.009 355.626
1 | 12 -4.309 6.009 355.626 | 26 | 26 ~4.309 -6.009 355.626
12 [ 12 -4.309 6.963 354.207| 25 | 26 ~4.309 -6.963 354.207
12 | 13 -2.226 6.963 354.207| 25 | 25 2.226 -6.963 354.207
13 | 13 -2.226 7.415 352.423| 24 | 25 -2.226 -7.415 352.423
13 | 14 -0.007 7.415 352.423| 24 | 24 -0.007 -7.415 352.423
14 | 14 -0.007 7.201 350.459 | 23 | 24 -0.007 ~7.201 350.459
14 | 15 2.148 7.201 350.459 | 23 | 23 2.148 ~7.201 350.459
15 | 15 2.148 6.244 348.720| 22 | 23 2.148 -6.244 348.720
15 | 16 4.017 6.244 348.720| 22 | 22 4.017 -6.244 348.720
16 | 16 4.017 4.758 347.524| 21 | 22 4.017 -4.758 347.524
16 | 17 5.441 4.758 347.524| 21 | 21 5.441 ~4.758 347.524
17 | 17 5.441 3.027 346.814| 20 | 21 5.441 -3.027 346.814
17 | 18 6.347 3.027 346.814 | 20 | 20 6.347 -3.027 346.814
18 | 18 6.347 0.969 346.499 | 19 | 20 6.347 ~0.969 346.499
18 | 19 6.637 0.969 346.499| 19 | 19 6.637 -0.969 346.499
ST 2)
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6-2

Kh

Kho

Bh

.6.2.1

Kh CERH B E N 2)

Kh Ks
)Kh
Kho (Bn/0.3) 34
1703 ao Eo
v B Dc
B 10.00 (m)
Dc 3.4336(m)
o 1.0
Eo Eo = 2800
Ks
Ks 0.3 Kn
ST

*, Ks (RS BHENT)

(kN/m2)

2)



N
4 4 0500 . 2
2.800 5
1.900 3
s
Ny 3.300 10
S
lu]
£
S
p
I
R .
\J 5 12.200 2
6 4.000 12
Eo Bh Kho Kh Ks
(KN/m?2) (m) (KN/m3) (kN/m3) (KN/m3)
1 0.500 2 5600 5.860 18667 2009.021 602.706
2 2.800 5 14000 5.860 46667 5022.553 1506.766
3 1.900 3 8400 5.860 28000 3013.532 904.060
4 3.300 10 28000 5.860 93333 10045.106 3013.532
5 12.200 2 5600 5.860 18667 2009.021 602.706
6 4.000 12 33600 5.860 112000 12054.127 3616.238
ST 2)
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6.2.1
1 1
ds(m) Kn (kN/m3) Ks (kN/m?) i K i Ks
1 5 0.2996 2009.021 602.706 601.979 180.594
2 | 36 | 5 0.2996 2009.021 602.706 601.979 180.594
3 | 35 | 5 0.2996 2009.021 602.706 601.979 180.594
4 | 34 | 5 0.2996 2009.021 602.706 601.979 180.594
5 | 33 | 5 0.2996 2009.021 602.706 601.979 180.594
6 | 32 | 5 0.2996 2009.021 602.706 601.979 180.594
7 | 31| 5 0.2996 2009.021 602.706 601.979 180.594
8 | 30 | 5 0.2996 2009.021 602.706 601.979 180.594
9 | 29 | 5 0.2996 2009.021 602.706 601.979 180.594
10 | 28 | 5 0.2996 2009.021 602.706 601.979 180.594
11 | 27 | 5 0.2996 2009.021 602.706 601.979 180.594
12 | 26 | 5 0.2996 2009.021 602.706 601.979 180.594
13 | 25 | 5 0.2996 2009.021 602.706 601.979 180.594
14 | 24 | 5 0.2996 2009.021 602.706 601.979 180.594
15 | 23 | 5 0.2996 2009.021 602.706 601.979 180.594
16 | 22 | 5 0.2996 2009.021 602.706 601.979 180.594
17 | 21 | 5 0.2996 2009.021 602.706 601.979 180.594
18 | 20 | 5 0.2996 2009.021 602.706 601.979 180.594
19 5 0.2996 2009.021 602.706 601.979 180.594
ST ( 2)
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(%)
- HEAEA WEAEH Y
AQh=AUhXKh  AQh=AUhXKh
0
.6.2.2
2 nZz
a) Uhgp=—— Sv Ts cos( ——
2 2H
b) U sinB (m)
) U cosB (m)
a) gk= U sin®@ ds Kn (kN/m)
b) g= U cos® ds Ks(kN/m)
1 1
Z(m) Uhz)(m) U(m) U sin@ U cosB .
m) m) ds Kh(kN/m?) | ds Ks(kN/m2) gk(KN/m) Qj(kN/m)
1 13.0022 0.0969 0.0251 0.0000 0.0251 601.979 180.594 0.000 4.533
2 13.0283 0.0968 0.0250 0.0043 0.0246 601.979 180.594 2.613 4.446
3 13.1057 0.0962 0.0244 0.0083 0.0229 601.979 180.594 5.024 4.141
4 13.2322 0.0954 0.0236 0.0118 0.0204 601.979 180.594 7.103 3.691
5 13.4039 0.0942 0.0224 0.0144 0.0172 601.979 180.594 8.668 3.099
6 13.6155 0.0928 0.0210 0.0161 0.0135 601.979 180.594 9.684 2.438
7 13.8606 0.0910 0.0192 0.0166 0.0096 601.979 180.594 10.010 1.734
8 14.1318 0.0891 0.0173 0.0163 0.0059 601.979 180.594 9.786 1.069
9 14.4209 0.0871 0.0153 0.0151 0.0027 601.979 180.594 9.070 0.480
10 14.7190 0.0849 0.0131 0.0131 0.0000 601.979 180.594 7.886 0.000
11 15.0171 0.0827 0.0109 0.0107 -0.0019 601.979 180.594 6.462 -0.342
12 15.3062 0.0805 0.0087 0.0082 -0.0030 601.979 180.594 4.921 -0.537
13 15.5774 0.0785 0.0067 0.0058 -0.0034 601.979 180.594 3.493 -0.605
14 15.8225 0.0766 0.0048 0.0037 -0.0031 601.979 180.594 2.213 -0.557
15 16.0341 0.0750 0.0032 0.0021 -0.0025 601.979 180.594 1.238 -0.443
16 16.2058 0.0736 0.0018 0.0009 -0.0016 601.979 180.594 0.542 -0.282
17 16.3323 0.0726 0.0008 0.0003 -0.0008 601.979 180.594 0.165 -0.136
18 16.4097 0.0720 0.0002 0.0000 -0.0002 601.979 180.594 0.021 -0.036
19 16.4358 0.0718 0.0000 0.0000 0.0000 601.979 180.594 0.000 0.000
20 16.4097 0.0720 0.0002 0.0000 -0.0002 601.979 180.594 -0.021 -0.036
21 16.3323 0.0726 0.0008 -0.0003 -0.0008 601.979 180.594 -0.165 -0.136
22 16.2058 0.0736 0.0018 -0.0009 -0.0016 601.979 180.594 -0.542 -0.282
23 16.0341 0.0750 0.0032 -0.0021 -0.0025 601.979 180.594 -1.238 -0.443
24 15.8225 0.0766 0.0048 -0.0037 -0.0031 601.979 180.594 -2.213 -0.557
25 15.5774 0.0785 0.0067 -0.0058 -0.0034 601.979 180.594 -3.493 -0.605
26 15.3062 0.0805 0.0087 -0.0082 -0.0030 601.979 180.594 -4.921 -0.537
27 15.0171 0.0827 0.0109 -0.0107 -0.0019 601.979 180.594 -6.462 -0.342
28 14.7190 0.0849 0.0131 -0.0131 0.0000 601.979 180.594 -7.886 0.000
29 14.4209 0.0871 0.0153 -0.0151 0.0027 601.979 180.594 -9.070 0.480
30 14.1318 0.0891 0.0173 -0.0163 0.0059 601.979 180.594 -9.786 1.069
31 13.8606 0.0910 0.0192 -0.0166 0.0096 601.979 180.594 -10.010 1.734
32 13.6155 0.0928 0.0210 -0.0161 0.0135 601.979 180.594 -9.684 2.438
33 13.4039 0.0942 0.0224 -0.0144 0.0172 601.979 180.594 -8.668 3.099
34 13.2322 0.0954 0.0236 -0.0118 0.0204 601.979 180.594 -7.103 3.691
35 13.1057 0.0962 0.0244 -0.0083 0.0229 601.979 180.594 -5.024 4.141
36 13.0283 0.0968 0.0250 -0.0043 0.0246 601.979 180.594 -2.613 4.446
ST 2)
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X Y X Y
(m) (m) (m) (m) (m) (m)

1 0.021231] _ 0.000000| -0.000086

2 0.021227 | -0.000047 | -0.000298 | 36 0.021227| _ 0.000047 | -0.000298

3 0.021181] -0.000212] -0.000912| 35 0.021181]  0.000212| -0.000912

4 0.021008 | -0.000580 | _-0.001854 | 34 0.021008 | 0.000580 | _-0.001854

5 0.020591| -0.001173| -0.003014| 33 0.020591|  0.001173| -0.003014

6 0.010821] -0.001940| -0.004254| 32 0.010821|  0.001940| -0.004254

7 0.018630 | -0.002772| -0.005428 | 31 0.018630 |  0.002772| -0.005428

8 0.017021| -0.003521| -0.006394| 30 0.017021]  0.003521| -0.006394

9 0.015070 | -0.004042 | -0.007035| 29 0.015070 | 0.004042 [ -0.007035

10 0.012927 | -0.004230 | _-0.007273 | 28 0.012927 | 0.004230 | _-0.007273

11 0.010777] -0.004042| -0.007074| 27 0.010777| _ 0.004042| -0.007074

12 0.008811| -0.003517 | -0.006461 26 0.008811|  0.003517 | -0.006461

13 0.007182| -0.002758 | -0.005505| 25 0.007182| _ 0.002758 | -0.005505

14 0.005973| -0.001914 | -0.004321| 24 0.005973 | 0.001914| -0.004321

15 0.005191| -0.001135] -0.003053| 23 0.005191]  0.001135] -0.003053

16 0.004771] -0.000538 | -0.001855| 22 0.004771] _ 0.000538 | -0.001855

17 0.004600 | -0.000175] -0.000874| 21 0.004600 | 0.000175| -0.000874

18 0.004558 | -0.000025 | -0.000232 | 20 0.004558 | 0.000025 | _-0.000232

19 0.004556 | 0.000000 | -0.000009

@)
M(kN m) Q(kN) N(kN) M(kN m) Q(kN) N(kN)
1 1 0.000 -6.178 0.892] 36 | 1 0.000 -6.178 -0.892
1 2 -1.849 -6.178 0.892| 36 | 36 1.849 -6.178 -0.892
2 2 -1.849 -5.451 2.580| 35 | 36 1.849 -5.451 -2.580
2 3 -3.480 -5.451 2.580| 35 | 35 3.480 -5.451 ~2.580
3 3 -3.480 -4.093 3.951] 34 | 35 3.480 -4.093 -3.951
3 4 -4.705 ~4.093 3.951| 34 | 34 4.705 ~4.093 -3.951
4 4 -4.705 -2.235 4.859] 33 | 34 4.705 -2.235 -4.859
4 5 -5.374 -2.235 4.859| 33 | 33 5.374 -2.235 ~4.859
5 5 -5.374 -0.112 5.179] 32 | 33 5.374 -0.112 -5.179
5 6 -5.407 -0.112 5179 32 | 32 5.407 -0.112 -5.179
6 6 -5.407 2.066 4.876 | 31 | 32 5.407 2.066 -4.876
6 7 -4.789 2.066 4.876 | 31 | 31 4.789 2.066 ~4.876
7 7 ~4.789 3.975 3.964] 30 | 3l 4.789 3.975 -3.964
7 8 -3.600 3.975 3.964] 30 | 30 3.600 3.975 -3.964
8 8 -3.600 5.433 2.557] 29 | 30 3.600 5.433 -2.557
8 9 -1.974 5.433 2.557| 29 | 29 1.974 5.433 ~2.557
9 9 -1.974 6.289 0.819] 28 | 29 1.974 6.289 -0.819
9 | 10 -0.092 6.289 0.810| 28 | 28 0.092 6.289 -0.819
10 | 10 -0.092 6.373 -1.057| 27 | 28 0.092 6.373 1.057
10 | 11 1.815 6.373 -1.057| 27 | 27 -1.815 6.373 1.057
11 [ 1 1.815 5.682 -2.835| 26 | 27 -1.815 5.682 2.835
1 | 12 3.516 5.682 —2.835| 26 | 26 -3.516 5.682 2.835
12 [ 12 3.516 4.266 ~4.299| 25 | 26 -3.516 4.266 4.299
12 | 13 4.792 4.266 ~4.299| 25 | 25 -4.792 4.266 4.299
13 | 13 4.792 2.343 -5.267| 24 | 25 -4.792 2.343 5.267
13 | 14 5.494 2.343 -5.267| 24 | 24 -5.494 2.343 5.267
14 | 14 5.494 0.106 -5.610| 23 | 24 -5.494 0.106 5.610
14 | 15 5.525 0.106 -5.610| 23 | 23 -5.525 0.106 5.610
15 | 15 5.525 -2.145 -5.288| 22 | 23 -5.525 -2.145 5.288
15 | 16 4.884 -2.145 -5.288| 22 | 22 -4.384 -2.145 5.288
16 | 16 4.884 -4.165 ~4.318] 21 | 22 -4.884 -4.165 4.318
16 | 17 3.637 ~4.165 -4.318| 21 | 21 -3.637 ~4.165 4.318
17 | 17 3.637 -5.675 —2.819] 20 | 21 -3.637 -5.675 2.819
17 | 18 1.939 -5.675 —2.819] 20 | 20 -1.939 -5.675 2.819
18 | 18 1.939 -6.479 ~0.980| 19 | 20 -1.939 -6.479 0.980
18 | 19 0.000 -6.479 ~0.980| 19 | 19 0.000 -6.479 0.980
ST 2)
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X Y X Y
(m) (m) (m) (m) (m) (m)
1 0.026773| -0.008114 | -0.000086
2 0.026688 | -0.007759| _ 0.002293 | 36 0.026848 | -0.007666 | -0.002890
3 0.026819 | -0.006818 |  0.003837| 35 0.026627 | -0.006394 | -0.005661
4 0.027236 | -0.005641| _ 0.004273| 34 0.025863 | -0.004480 | _-0.007981
5 0.027822| -0.004591|  0.003522| 33 0.024443|  -0.002246 | -0.009550
6 0.028304 | -0.003932| _ 0.001718| 32 0.022421] -0.000051| -0.010227
7 0.028352 | -0.003742| -0.000814| 31 0.010991[  0.001802 | -0.010042
8 0.027696 | -0.003905| -0.003630 | 30 0.017428]  0.003137 | -0.009157
9 0.026222 | -0.004166 | -0.006272| 29 0.015002 | 0.003919| -0.007798
10 0.024010 | -0.004230 | _-0.008382 | 28 0.012927 | 0.004230 | _-0.006164
11 0.021297 | -0.003864 | -0.009762| 27 0.011341]  0.004220| -0.004387
12 0.018404 | -0.002957 | -0.010347 | 26 0.010301] _ 0.004076 | -0.002575
13 0.015662 | -0.001539 | -0.010143| 25 0.009784 | 0.003978 | -0.000866
14 0.013347 | 0.000235| -0.009216| 24 0.009682 | 0.004063| _ 0.000575
15 0.011636 |  0.002122] -0.007702| 23 0.009829 | 0.004392 |  0.001596
16 0.010575]  0.003853| -0.005794| 22 0.010049 | 0.004929|  0.002085
17 0.010085|  0.005197 | -0.003725]| 21 0.010197 | 0.005547 |  0.001977
18 0.009995 | 0.006013 | _-0.001726 | 20 0.010205| _ 0.006062 | _ 0.001262
19 0.010097 | 0.006273 | -0.000009
©)
M(kN m) Q(kN) N(kN) M(kN m) Q(kN) N(kN)
1 1 11.747 -9.452 319.135] 36 | 1 11.747 -2.904 317.351
1 2 8.918 -9.452 319.135] 36 | 36 12.616 ~2.904 317.351
2 2 8.918 -14.759 324.030] 35 | 36 12.616 3.857 318.870
2 3 4.502 -14.759 324.030] 35 | 35 11.462 3.857 318.870
3 3 4.502 -17.428 331.258| 34 | 35 11.462 9.242 323.356
3 4 -0.714 -17.428 331.258 | 34 | 34 8.696 9.242 323.356
4 4 -0.714 -17.033 339.651| 33 | 34 8.696 12.563 329.933
4 5 -5.812 -17.033 339.651] 33 | 33 4.936 12.563 329.933
5 5 -5.812 -13.542 347.849] 32 | 33 4.936 13.318 337.491
5 6 -9.864 -13.542 347.849| 32 | 32 0.950 13.318 337.491
6 6 -9.864 -7.589 354.379] 31 | 32 0.950 11.721 344.627
6 7 -12.135 ~7.589 354.379] 31 | 31 -2.557 11.721 344.627
7 7 -12.135 -0.655 358.183| 30 | 3l -2.557 8.605 350.255
7 8 -12.331 -0.655 358.183| 30 | 30 -5.131 8.605 350.255
8 8 -12.331 5.688 359.140 29 | 30 -5.131 5.178 354.026
8 9 -10.629 5.688 359.140| 29 | 29 -6.681 5.178 354.026
9 9 -10.629 9.789 357.888| 28 | 29 -6.681 2.789 356.250
9 | 10 -7.700 9.789 357.888| 28 | 28 ~7.516 2.789 356.250
10 | 10 ~7.700 11.385 355.527 | 27 | 28 ~7.516 1.361 357.641
10 | 11 -4.293 11.385 355.527 | 27 | 27 ~7.923 1.361 357.641
11 [ 1 -4.293 11.691 352.791] 26 | 27 ~7.923 -0.327 358.461
1 | 12 -0.793 11.691 352.791] 26 | 26 ~7.825 -0.327 358.461
12 [ 12 -0.793 11.229 349.908| 25 | 26 ~7.825 -2.697 358.506
12 | 13 2.566 11.229 349.908 | 25 | 25 ~7.018 ~2.697 358.506
13 | 13 2.566 9.758 347.156 | 24 | 25 ~7.018 -5.072 357.690
13 | 14 5.487 9.758 347.156 | 24 | 24 -5.501 -5.072 357.690
14 | 14 5.487 7.307 344.849 | 23 | 24 -5.501 ~7.095 356.069
14 | 15 7.673 7.307 344.849| 23 | 23 -3.377 ~7.095 356.069
15 | 15 7.673 4.099 343.432] 22 | 23 -3.377 -8.389 354.008
15 | 16 8.901 4.099 343.432] 22 | 22 -0.867 -8.389 354.008
16 | 16 8.901 0.593 343.206 | 21 | 22 -0.867 -8.923 351.842
16 | 17 9.078 0.593 343.206 | 21 | 21 1.804 -8.923 351.842
17 | 17 9.078 -2.648 343.995] 20 | 21 1.804 -8.702 349.633
17 | 18 8.286 -2.648 343.995| 20 | 20 4.408 -8.702 349.633
18 | 18 8.286 -5.510 345.519] 19 | 20 4.408 ~7.448 347.479
18 | 19 6.637 -5.510 345.519] 19 | 19 6.637 ~7.448 347.479
M(kN m) N(kN) Qmax(kN)
+Mmax 36 36 12.616 317.351
-17.428
~Mmax 7 8 -12.331 358.183
ST 2)
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6-3

=0
=11.747 (KN m)
=7
=8
=-8.731 (kN m)

=5.525 (kN m)

=-5.525 (kN m)

=36

=36
=12.616 (KN m)

=7

=8
=-12.331 (kN m)

ST ( 2)
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=0
=0

=0.000 (kN)
=7
=8

= 354.219 (kN)

=14
=15

= -5.610 (kN)
=22
=23

=5.288 (kN)

23 15

20 ho 18 = 36
=36
= 317.351 (kN)
=7
=8
= 358.183 (kN)

ST ( 2)



a)
=4
=4
= -14.798 (kN)
b)
=18
=18
= -6.479 (kN)
) +
=3
=3
= -17.428 (kN)

ST (

2)
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6-4
@
1)
t m 0.0030
tr m 0.014
h m 0.125
Yo m 0.0582
2)
6-2 +
Mmax kN m 12.616
+Mmax 36
N kN 317.351
Mmax kN m 12.331
-Mmax 8
N kN 358.183
(2
1) (m)
N
1 N
Ypo = -50 t2+4 t+2 tr h)
4 tr O sy
Ypi= h+t-ypo
N (kN)
O sy (SM490A) 325(N mm?2)
Ypo (m)
Ypi (m)
t 0.0030(m)
tr 0.014(m)
h ( ) 0.125(m)

2F Ik
25t 25t
hl: N N BhE

L )

—~ 1

-6.1.1

ST (

2)
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Mud X
t ypo - t
Mud = O sy 25 t2 2 (yo- — — )+2 tr (ypo-t) (yo- — —— -t)
2 2
Ypi
+2 tr ypi (h+t- -yo))
2
Yo 0.0582 (m)
Mud
ri Md
— 1.0 OK
Mud
Md * Mmax
ri 1.0
a) ( 36
Mmax = 12.616 kN m
N = 317.351 kN
1 317.351
yPO = X
4x 0,014 325000
- 50 x 0.00302+4 x 0.014 x 0.0030 +2 x 0.014 x 0.125)
= 0.075 (m)
Vpi = 0.125 + 0.0030 - 0.075 = 0.053 (m)
Mud
0.0030
Mud = 325000 x 25 x 0.00302 x 2 x (0.0582 -
2
0.075 - 0.0030
+2x 0.014x (0.075-0.0030) x (0.0582 - - 0.0030)
2
0.053
+2x 0.014 x 0.0563 x (0.125 + 0.0030 - -0.0582))
2
= 41.756 (KN m)
i Md 1.0 x 12.616
= = 0.302 1.0 OK
Mud 41.756
ST ( 2)
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( =8
Mmax = 12.331 kKN m
N=  358.183 kN

1 358.183
Ypo = x (
4 x 0.014 325000

- 50 x 0.00302+4 x 0.014 x 0.0030 +2 x 0.014 x 0.125)

53

= 0.077 (m)
Vpi = 0.125 + 0.0030 - 0.077 = 0.051 (m)
Mud
0.0030
Mud = 325000 x 25 x 0.00302 x 2 x (0.0582 -
2
0.077 - 0.0030
+2x 0.014x (0.077 - 0.0030) x (0.0582 - - 0.0030)
2
0.051
+2x 0.014 x 0.0561 x (0.125+0.0030- —— -0.0582))
2
= 41.108 (KN m)
i Md 1.0 x 12.331
= = 0.300 1.0 OK
Mud 41.108
ST 2)



1)
B
Fu b
M - 20
IB mm 0.0200 q
An m2 0.000245 An | Ab 4<
Ab m2 0.000314 —
Nsb 4
-6.4.1
2)
3]
t l N/
M o
I L A A G | DA -1 S
e 4 < HHH —> N V1720 P R
h T L] | /J;
N
™
|
-6.4.2
M
N
co (M (1-T)-N (y-1)) B
nsb  hss
T 1 (N/Ring)
Yo 0.0582 (m
t 0.0030 (m)
hes 0.0750 (m
B 1.00 (m)
¢ 0 (%)
ST (

FEE
o

2)



(12.616 x (1-0.00) -317.351 x (0.0582 - 0.0030))x 1.00

M

N

=36)

=12.616 (kN m/m)

= 317.351 (kN/m)

T1 =
4 x 0.0750
Tt O
T1 -16.339
oBl= = -66690 (kN/m?) -66.7 (N/mm2)
An 0.000245
T1 (kN)
o Bl (N/mm2)
ST

55

= -16.339 (kN)



-6.4.3 K
a =145°
Q=N (sina -f" cosa )-Q (cosa +f sina )
fr=0.3( )
K 6 k=0° 50° Qk
N (sina - Q (cosa +
N (KN/m) Q (KN/m) f' cosa ) ' sina ) Qxk (KN/m)
1 1 319.135 -9.452 -12.786 -9.861 -2.925
1 2 319.135 -9.452 -12.786 -9.861 -2.925
2 2 324.030 -14.759 -12.982 -15.397 2.415
2 3 324.030 -14.759 -12.982 -15.397 2.415
3 3 331.258 -17.428 -13.272 -18.182 4.910
3 4 331.258 -17.428 -13.272 -18.182 4.910
4 4 339.651 -17.033 -13.608 -17.770 4.162
4 5 339.651 -17.033 -13.608 -17.770 4.162
5 5 347.849 -13.542 -13.936 -14.128 0.192
5 6 347.849 -13.542 -13.936 -14.128 0.192
6 6 354.379 -7.589 -14.198 -7.917 -6.281
(Qxkmax)
Qkmax = 4.910 (KN/m)
1Ring
Qkmax = Qkmax B = 4.910 x 1.00 = 4.910 (kN/Ring)
T BK
Qkmax 4.910
T BK = = = 3909 (kN/m2) 3.9 (N/mm2)
nsb  Ab 4 x 0.000314
ST (

2)
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b)
Qmax
Qmax= OQmx B = -17.428 x 1.000 =  -17.428
Qmax 17.428
no As 4x 0.000314
13876 (kN/m2)  13.9 (N/mm?)
4)
a)
ypo(m) Md(=Mmax) Mud 1.0 Md
ypi(m) (KN m) (kN m) Mud
0.075
+Mmax 36 12.616 41.756 0.302 OK
0.053
0.077
-Mmax 8 -12.331 41.108 0.300 OK
0.051
b)
N/mm? 660 830 OK
N/mm? 381 3.9
N/mm? 381 13.9
ST 2)
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7-1

§ 16
A Ve A
AT Hj N
h : &r/
H | /
Us !
7 !
2HE :
O =tanl( U/h)
mh
Uniz) = Sv Ts cos (
2 2H
U = Un(0) - Un(h)
0 (rad)
z (m)
Un@z) Z (m)
h 17.000 (m)
Sv 0.800 (m/sec)
H 24.700 (m)
Ts 0.883 (sec)
Un() (m)
Unh) (m)
1)
a) ; Un()

2
Uh() = x 0.800 x 0.883 x cos 0 = 0.143 (m)
T[Z

ST ( 2)
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b) ; Un(h)

1 x 17.000

Un(h) = x 0.800x 0.883x cos (

U= Un@©) - Unt) =0.143 - 0.067 = 0.076 (m)

2)
u
6 = tanl(— )

h
0.076

= tan-!
17.000

= 0.0045 (rad) = 0.258 °

72 2x 24.700

) = 0.067 (m)

ST

2)

59



7-2

d =¢ s} |
€ g )=(m /L) Un
Un@) (m)
L ( ) (m)
| (m)
a) ; Un@)
2 mh
Uniz) = Sv Ts cos (
2 2H
z =14.719 (m)
Tt x 14.719
Unhz) = x 0.800x 0.883x cos ( —— ) =0.0849 (m)
T2 2x 24.700
b) |
=B =1.00 (m)
c) o)
€ g= (m /143.9)x 0.0849 =0.0019
e}
0 =& gx 1=0.0019 x 1.00 =0.0019 (m)
o = 0.0019 (m) <= =0.003 m OK

ST
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€b =(8 /Lbc) 100 = (1.9000731.0)x 100 = 6.1290 ( )

Lbc 2 tn+tow now = 2x 14 +3.0x 1 = 31.0 (mm)
tr1 14 (mm)
tow 3.0 (mm)
Nbw 1()
€ b=6.1290 ( ) =22.00( ) OK

ST ( 2)



